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Important Instructions
for Multiple Cheoice Question (MCQ)

¢ Write Subject Name and Code, Registration number, Session and Roll
number i the space provided on the Answer Seript.
Example : Such as for Paper [II-A (MCQ) and [II-B (Descniptive).
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¢ Candidates are required to attempt all questions (MOQ). Below each
question, four alternatives are given [ia. (A), (B, (C), (D)]. Onlv one
of these alternatives 1 ‘CORRECT answer. The candidate has to write
the Correct Alternative [Le. (A)BNCD)] agamst each Question No.
in the Answer Scripl.
Example —It altemative A of 1 15 correct, the wnite ¢
I.— A

¢ There is no nagative marking for wrong answern
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1. What 15 unrversal solvent?
(A) Water
(B) Aleohol
(C) Patroleum
D)

Y, TEEES o

{A) &=

(B) =meae

[C] ESI-IE;T.':' E["
D) &&=

1 Example of non-repewsble paniral resousces 1= —
(A) Iron
(B) Coal
(C) Eorest
(D) Gald

. TEEETAN] ST AR e I —

(A) ==

A

{(B) ==
(C) =59
(D) ==

Thra Ovgr



(B) S L_Bihupuna
(€) Madha Patelar
(D) Nenz of the above

(A) == =

(B) &7 &=, T=8q

(€C) w8 wo=T

(D) SorFE =mies =%
4 Basic element of Bro-zat —

(&) Methine

(B) Ammora

(C) Hxdrogan

D) Nesan

(A) Tores

(B) =aem

(C) ===E=A

D) Tz

Thrn Cher
{49



3. Jaldapars 1= fimous for the comtervation of —
(A) Thee
(B) Rhinocerous
(€) Elephant
(D) Caw

(A) 7=
(B) e
(€) =&
D) ==

(B) Traps-dizciphnary
(C) Meno-distiplimary
(D) Drscipline by smelf
(A) WS- R
(B) Tw-=REea

(C) TR
D) TFEy o B

Thra Ovgr



7. Malaria is exused by —
{A) Protozoa
(B) Virus
(€) Bactaria

(D) Fungi

8, WA T A —
(A) CHTETTEE
(B) ==@
(C) FrRsm
D) ===
8. Taymashal may be damaged by —
(A) Asxr Pollohon
(B) Watsr Polluton
(C) Soil Pollution
(D) Noae of the above

¥, TS SesE s @ —
(A) =TgEEy 2=
(B) = S
(C) T e
D) Tomme ST

fura Over
( &)



5 What 15 the full form of CEC?
{A) Centre for Catbon
(B) Chlorofluroratbon
(€) Carbon factor centre
{D) Cammen factor for carbon

s, CECF 9= == &t
(A) 7w T8 FHn
(B) Frangrerssa
(C) =#= s 7o
13) R e

10. Which dav 15 celebrated a= "World Emvironment Day” —
(&) 5 Tune
(B) 20% June
(C) 26% January
(D) 25% December
Yo, Fw sRrw P sE esmE T —
(A) 23 =+
(B) 22 &=
(C) a% = =pgila
D) 32 = o=

Thra Ovgr



(D) Nonz of the above

vy WiET = = —
(A) 51
(B) TS
(C) ==&
(D) 2oFe SR =5

12. Full name of B.OD. 15—
(&) Biolomeal Oxygen Demand
(B) Biologiwal Oxygan Date
(C) Biological Oxvgen Deal
(D) Nogie of the above

¥3, BOD = o =¥ —
(B) EmieE e 29
(C) T TS o
(D) ToE Ees o

Thrn Cher
{ §)



13 The pollutant responsible for ozons hole 15 —

e
i

{A) CO,
(B) 56,
(€) O

D) CFC

(4) co,
(8) S0,
(C) €O
(D) CFC

14 Vernucompostme s dene by —

{A) Fungus

(B) Bacteria

(€) Earth Woemis
(D) Anmais

2 AR TEEE U S —

P8 B=Te
(B) S=mhawt
(€) &T57

(D) %

5w E as Jﬁ?ﬁiﬁi’] wEs s T —

(

9

)
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. BT A0 TELE 7 {203 aR S FeE T —
(A) =z
(B) SE=S TRE=
€) =me=
(D) SRLTEs

16. Tobacco addiction := caused due to—

(&) Cocaine

(B) Caffeme

(C) Nicotina

(D) Histamins

(A) @==
(B) ==
(C) T
D) =5fim

Thrn Cher
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17. Which of the follswing 15 the water bome disease?
(A) Duzbetes
(8) Chaolers
(€) Small Pox
(D) Nenz of the above

. BT EeeAE Y

(A) =ETa

“w
i

(B) ==mn
(C) =5 %
(D) =4 SEeE
18. Organ affected by prsumonty —
(&) Liver
(B) Kudney
(C) Eeart
(D) Lungs

T, iﬁﬂﬁﬁ T EETE T e —
(A)-F=s
(B) ==
(C) =T

D) 57

Thra Ovgr
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19 Mauumum denety of water 15 at —
(A) 4°C
(8) &°C
(€) 100°C
(@) 272°C

\E. TR TS B o —
{A) 4°C
8) 0°C
(€) 10°C
{D).272*C

30, What is the full form of WHO?
(A) World Happy Ormansations
(B) World Halic Orzanizstions
{€) World Human Organisations
(D) Waorld Health Organisations

1o, WHO-2% <& == =1
(A) =7 T Teaeesn
(B) St (=i=s melems
(C) =Er= Toam T
(D) e =g TR

(
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)
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21 Medicme ‘Quinme’ 15 harvesied from —
{A) Encabypius
(B) Aconme plant
(€) Cinchons plant
D) Tuis plant
1Y, Fo%n IG0 150 5 —
(A) T=mee o=
(B) E=mizy &S
(€) 7= =
D) T T
22 "Mangrove = found in —
(A) Jaldapara
(B) Westam Ghate
(C) Sundarban
(D) Noae of the above

X3, WIS ISR TEF —
(A) =aTE3
(B) “fswei-e
(€) =am-2
(D) ToEe SR 7

Thra Ovgr
{ 12 )



33 Which ene of the followinz = biedapradsble? -

(A} Plastc

(B) Papar

(C) Gla=

(D) DDT

(A) o5

(B) ==

(C) 3%

{D} T._-:‘i’;-_’}

i
L]

i Tkl
(&) B4
(B) Centbel
(€] Kalobel
(D) Dactbal
13, N STanie O 1 —
() ==
(B) =
(€) Tomme=
(D) ===

Thra Ovgr
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23 Whe comed the term ‘scosystem’ —
{A) C. Daramn
(B) i Nowton
(€) A Emndem
(D) A Tansley

12, Ao SN p S9EA wE Y
(A) & =5
(B) =&. Freom
(C) &, =WE=uEs

{D) &£ HRE

[ 15 )



